
ü WKB approximation to the harmonic oscillator wave functions

ü We take m=1, w=1, —=1 and work out WKB wave function

ü First, classically allowed region
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ü Next, classically forbidden region
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ü n=20
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Plot::plnr  :  v1 ê. 8n → 20< is not a machine −size real number at Q = −6.34671.

Plot::plnr  :  v1 ê. 8n → 20< is not a machine −size real number at Q = −6.39185.

Plot::plnr  :  v1 ê. 8n → 20< is not a machine −size real number at Q = −6.39787.

General::stop  :  Further output of Plot::plnr will be suppressed during this calculation.
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ü n=5
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Plot::plnr  :  v1 ê. 8n → 5< is not a machine −size real number at Q = −3.3139.

General::stop  :  Further output of Plot::plnr will be suppressed during this calculation.
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